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COMPUTER STUDIES (451)

Computer Studies Paper 1 (451/1)

SECTION A (40 marks)

Give a reason for each of the following:

{a)
(b

changing a password regularly;

1yping and re-typing a newpassword when chang,m“ .

MANYAM FRANCHISE

Answer ALL the gquestions in this section in the spaces provided.

(1 mark)
{1 mark)

With reference to quality of pring, noise iewel and cost, compare a dot matrin-with a Laser
printer.

A computer accessories vendor needs tu order supphes A spreadsheet is us:;d to calculate the
order part of which is shown below.

{b)

{3 marks}

A B C D
1. [hem Price per unit | Number ordered | Cost (Kshs)
2. | 56K modem | R365.00 &)
3 | 128 MB Ram | 4.950.00 40
4. | Penbium IV | 13,525.00 55
| Provessor -
3. ' Tetal

Write the formula that can be used N

{1)

D2

{1 mark)

I a value added tax {VAT) of 16% was chafgc& on each item and the number ordered
was decreased by 10%, write a new formula that can be used in D2.

List two uses of computers in meteorology.

Explain the following terms as used in desktop publishing:

{a)
{b)
{a)

{b)

embedded object

auwtoffow,

{2 marks)
(2 marks)
{2 marks)

Name four approaches that may be used to replace a Computerised Information system.,

Which of the approaches named in (a) above is appropriate for critical systems?

Ixplain,

Explain the following operating system functions:

{a}
(b}

job scheduling;

interrupt handling.

Name four togple keys on a standard computer kevbouard,
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{2 marks)

(2 marks)

{1*mark)
(1 mark)

{2 marks)
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b A computer user typed the name Kagiado as Kajaido and 8726 as 8126,

{a}  State the tvpe of each error. © {1 mark)
ib} FExplan how such errors can be controlled. (2 marks)
P g - . ) '
1o Desonbe Thied Generation Languages and name two examples, {2 marks)
1 @y Whatt s an internet protocol (1 P) address? {1 mark}
i) Why is an [P address necessary” {1 mark)
ik What is the purpose of the foilowmg wternet domains” {1 mark}
7 Lorg
12 fap . Name two types of buses found on the computer motherhoaed. {2 marks)
by State the purpose of each of the types of buses named in () above. {2 marks)
13 () Name the two files commonly used in mail merge. ’ {1 mark)

{b)  Name and explain the twe types of dropcaps. > 12 marks)

14 Give three ways in which horticultural farmers can benefit from the use of Information and

Commaunication Techuology (1CT), A , {3 marks)
18 Arrange the following job titles m the order of their senionty,
Database admimstrator, ICT manager, Systems analyst. : €1 mark)

. SECTION B (80 marks)

Answer gueestion 16 aad-any other three questions from this section i the spaces provided,

16 Study the fowchan befow and answer the questions that Toliow.

READ N

e

» L 7 S -

MRS« |
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(@)  What would the Alowchart generate as output if the value of N at input

was:
a6 {2 marks)
(il 17 (2 marks)
by} Write u pyeudocade that does the same thing as the flowchatabove. {7 marks)
{c} Madify the flowchart 50 a8 10 reject an input below 0 and to avoid

the looping when the input is . (4 marks)

17 Alecturer keeps the following student details in a database: name, age, course.
(a) Write an expression you would use to compute the year of buth of a

student using this year as the current year. (2 marks)

What query expressions would the Escmmr use 1o Tist the students whose
age is above 15 years and below 235 years’

{b}
(3 marks)
() Which expression would the lecturer use to generate:

{1} the number of students in the database? {2 marks}y

{11} the mean age of the students in the database? {2 marks}y

idj Name and describe anv two tyvpes of database models. (6 marks)

I8 . The diagram below shows a layout of 2 computer nelwork used by o faw firm. A
workstation and a printer are located in every consulting room

R L P

(s Nume the network wpology depicted mn the diagram, (T mark)
1) Nume the device labelled D {1 mark)
iy State four functions of the device labelled server 4 marks)

Give two advantages and one disadvantage of the above network design,

{ivi
(3 marks)

{v) If the tirm intends to open extra offices in two different towns, name any
three hardware devices that would be required. . {3 marks)
{(vi}  State any two security problems that might anse by linking the offices in
different towns. {2 markq)
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(b)  What is spyware? . {1 mark)

L )| Study the following diagram and answer the questions that follow.

- [Tzesrioo_|
L T T —
P B M Cvenow|[—SeMER ]

e

bognanerere:

PRINTER t

From the diagram:

(i) Name two devices that are used for long term storage. ' {2 marks}

(u)  Name three peripherals shown on the diagram that are used for tpul.
; (3 marks)
(iti)  Name two other devices that a Computer Aided Design (CAD}Y user might wish
to add to the set-up above.
. . {2 marks)
(b) A customer wishes to purchase a4 computer system. The customer can buy word

processor, spreadsheet. datubase and a drawing package separately or as an integrated
package. State three advantages why many computer users prefer integrated packages

10 separate packages. (3 marks)
{©) {1} An anti-virus software installed in a computer is loaded into the main memory .

each time the computer 1s switched on.
Explain three ways in which computer viruses are spread from one computer to
another, (3 marks)

(1) Give two reasons why an anti-virus package should be updated regularly.

2 marks)
20 {a) Perform the following binary arithmetic and give your answers in decimal notation:
(1 1010101 + 11.011 (3 marks)
(i 1010.011 - 11.011 (3 marks)
(by  Coven the following numbers into their binary equivalents:
i) 0.3625 ' {3 marks)
{ii} 03125, {3 marks)
(¢)  Using four-bit twos compliment, perform the following arithmetic ~
' ' {3 marks)

101, - 111,
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29.14.2 Computer Studies Paper 2 (451/2)

T Designs AUWSpaper publication to apspmr as indicated 1n the next page using the
followeng instructions.
(a) - Launch the DTP package and sef the preference measurements 1o eentimetres
-~ and the document margins 1o 2em on all sides, : {2 marks)

by The heading 'Digual Bulletin® to have the following styles; {4 marks)
*  Centred across the page
*  Fom face: Anal
*  Fontsive: 45
. *  Background colour: grey

(¢} The other two headings in the publication 1o have the styles:

*  Font face: Arial narrow

«  Fontsize: 20

*  Text weight: Bold

*  Character spacing: 150% » :

*  Alignment: centred across the page {3 marks)
fd}  The text under the heading ‘Basic Networking and Connectivity’ to be in three

“columns and having the following styles: 422 marks)

= Font size: 14 - . '

* Furst character of the paragraph to have a 3 lines dropcap

* Hyphenation: disabled =~ =

*  Fully justified o

{¢}  The text under the headmg »’mtmms Information Corner” to be in'a single
cedumn, : E ) {3 marks)

{f Design the Mercury Da'gishop:adwﬂié;ement in the position shown,
’ {10 marks}

{g) Insert the two lines of 4 and 0.75 points respectively in their positions. (3 marks)

(W} Primt the publication. v : ' . (1 mark}
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Basic Networking and Connectivity

he ability to expand

heyond the limit of

a single computer

i = single office has
extended the reach of the
PC o global propostions.
Two technologies have
driven this  expangion, &
Computer network and the
global network known as
the Internel.

A network  is
defined as two or more
computers  hinked
together for the purpose
of communicating and
sharing information and
other resources. Most
networks are constructed
around cable connection
that fink computers, This
conmection  permits  the
computers to ik {and
itsten) through a wire
More recently, & number
of  wireless  solutions
have become available.
Intrared poris,

Bluetooth, mdio  links
and other  protocols
allow varety of new
devices to link with PCs.
In order for the network
io function, three basic
requirements must be
metl:

« The network must
provide connections,
communication  and
SEPVICES.

«  Connection
the

include

hardware
{physical
components) required
to hook up a comiider
to the network.

o Commupication
establishes the rules
concerning how
computers  falk  and
understand cach other.
Computers often ron
differcnt software and

therefore  they must
speak a shared
language.

+ A service  defines
those  things a
computer shares with
the rest of  the
network. Faor
example, a computer
can share a printer or
specific directories or
files. Unleoss
computers  on  the
network  are  capable

SPECIAL OFFER
SPECIAL OFFER
Pentiam IV
Duo 1.8 Ghz intel ,
120Gk HDD, 512 Mb
memory, Keyboard, §
full multimedia

Antivirus Information Corner

iruses arc small programs that hide themselves on your disks (diskettes
and hard disks). Unless you use virus detection sofiware the first time
that vou know that you have a virus is when it is active. Different viruges

are activated in different ways, for instance, the famous Friday the 13%

Virus wiil

activate oniy when it is both a Friday and the 13% of the month. Be aware, virss

can destroy all your data,

pusimhed by Elercka Secondary Suhool zndg Printed by BlusTes: Printers tid
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The Centrul Bank of Kenya (CBK) exchange rates on a certamn day for foreign curmencies
apanst the Kenya Shilling (Kshy were as follows:

 Currency

CBK Mean Rate (Ksh)

1 ES Dollar

3 """!"’D *
ra

1 Sterling pound

1377984 .

'l Luro

966552

FSA Rand
! Sweddish Kroner

103100
104509

Kariuki. Hamisi, Mumbua, Otieno and Nekesa trade in buying and selling of foreign
currencies, On that day, they bought the following foreign currencies from CBK.

and save it as FOREX

Name U.S Dollars | Sterling | Furos | 8.4 Rands - Swedish
, Poundy - Kroner
" Kariuki 00 200 340 1200 290
Hamisi 500 - a00 400 2000 3000
Mumbua 200 600 300 4000 5000
Otieno 600 200 200 1000 3000
Nekesa 400 200 600 2000 1000
They then sold their foreign currencies at the following rates:
| Name U8 Dollars E Ster!in,é Eurox K. Randy Swedish
Paunds Kroner
Kariuki 0.5 139.0 96,7910 104213 06725
Hamis) M0 1S 96.79 05712 | 102676
Mumibua 00 | 1415 96,76 10.3974 10.7437
Otiens 6053 L 1390 96.80) 10,6371 105942
| Nekesa o695 DR 96,40 10,7218 10,6155
{a) Using a spreadsheet package. represent the above information in one worksheet

(13 marks)

(14 marks)
{2 marks)

{13 marks)
{3 marks)

{2 marks)
{1 marks)

{h Using formulac with absolute and relative cell relerences, determine the total profit
made by each rader
() Format the profit for each trader to zero decimal places.
(dy  Create a well Jabelied bar graph on a different worksheet showing the cost incurred on
buymg US dollars by each trader.
{¢) Use a function to determine the trader who got the nghest prefit.
{n Format the frst able as follows:
= Set the direction of the labels 10 457,
= Centre vertically all the records,
LY Print the worksheet and the graph.
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